INFOSYS PAPER ON 2nd DECEMBER 2007

Secton Lfogical reasoning(30 q 40 mins)

Q:There 11 prime

givenNo

Sqonitiike..

1y o of goalzscored by any player?

2min o of goalzscored by any player?
“This was, | thnk the toughtest n s section
Q:Next S were fm odd figure out type

Very easy solve these 15§ marks  for sure

QU-15:dats sufcicncy. easy 13

Q1620 datainerpretation

Q-

howmany females rthere ind family?
s was ke d puze fest frm R s Aggrawt. b a dif |
Q261030 fm Syllogism

these rery casy

10 very quik read the st

nthen go by option.al defii

Secton 2:verbal easoning(40 s 30 mins)

qual o the ave.

there 1t two RCs ery easy
any cost.

1o crack it id RC n allthese chapters frm CAT nots frm IMS.

lines for 14U
mistakes ¥ rlated o tenses nd senfence

comsruction.

thats al embr abt d est.

o Munbai,
atamd 2 pm..be was an old man

Me: may i come insir?

Roudsame person.he asked.

HE:bay a seat
Mesthank uGood aftermoon s shud hav sakd tis a bit carler)

HesTell me bt younell

HE: urstrong points.
Me:hardworking(He interrupted me there)
HE:How do  know?(Here hav a comsncing explaination)

HE: ur negative poits

HE:barsh?2then do ubeat them??2(Both of us aughed)

1
team.

HE:how il wovercome ur this shortconing?

Hecifbes stl not notdoing wel.

works

Hezwat willu do exacty??

they hay

a situation reaction test for me.)

Hevat does ur fther do
Mesi toldbt then he againstared digging d sub

HE:hay u evehelped ur fathern s business??

Dusiness how do u andie

HE:dont u think ur mother shid enjoy her e 20 o watch a movie
Meyes ido
HE:btu dontallowher 0 g0 out..

Mesitz ot ke dat.d time demands her o b at home . dats all

. oy
(0 was smling while saying allthese so s i)

MEshian..she'll definitly eajoy it whe infosys.(both of us i)
Hesuwont b here (Mumbai) then.
Me:humm.

HEbow gond ru at Maths??
Meiok . mean good

He goodor vy good

MEsgood bl ry t do my best
Hesellme 100041000

ME2000

HE:+60

ME2060

HE:+30

Me2090

Heze1o

imade 5k 300.. very

here bt wen urind

I ket 0 2 i s o sl o o)
[T

Mes1s

wayitls

weanuse 1

M was staring at i ot itin st 5 10 6 seconds,

Just make any one of d + sign as .50 ans i 54545

100into is maltpke of 47 and another i muple of 17
I 1t

0. bt then

he gave 47t 10

Hestellme abt ur extra activides in coll r at home.

achicvimats cozof dat

solved it ornot.

askne such)

Hesthank you

Mesthank you so much

here rfewmore puzes which my frz vere asked

Dthere ieh 1
then??

Tis mag

Ans sk wid the pol

eostaf 1

Ansis 10505

il b given 1 blank paper:vat can u do widthis.conditon s u cant type on it oF write

Ftheirindividual

expecting)






